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Primitive Size  Minimum Value Maximum Value Wrapper
Type Type
char 16-bit  Unicode 0 Unicode 216-1 Character
byte 8-bit -128 +127 Byte
short 16-bit  -215 +215-1 Short
(-32.768) (32,767)
imt 32-bit  -231 +231-1 Integer
(-2,147.483,648) (2,147,483.647)
long 64-bit  _2p3 +263-1 Long
(-9,223,372,036,854,775,808) (9,223,372,036,854,775,807)
float 32-bit  Approx range 1.4e-045 o 3.4e+038 Float
double 64-bit  Approx range 4.9e-324 io 1.8e+308 Double
boolean  1-bit  true or false Boolean
Primitive Data Type Default Value 3.6
byte 0
short 0
int 0
long oL
float 0.0f
double 0.0d
char "woooo
boolean false
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Student[]c:)= new 5tudent[5];

new Student (99, 45, 90);

12%\ ; new Student(88, 55, 80);
Y = new Student (77, 65, 90);
i = new Student(66, 75, 80);
A = new Student(55, 85, 90);
disp();
disp();
disp();
disp();
disp();
S/
\i - ,
/| Studnt SCY T 7] er i
| [studot §TOT—""_ e LA
L studint ST }Zg |20
NPT SN — "




Nl SCo] Vo
¢ S > A
AL IR ,
My ,’
AR

« v

W i avﬂ’kw Padl IS { ) I

NI Studmi=, v g_Iov()

$12), 443 ¥or)) Studint=, Gv

L O N A A
{W’J.avg,\&{) Sttty OV g Mmath()

STady 0 e modk

STwdrt[1 S = New  Stndml LS

N/

STwlint [T S — ~CTydamb SCO;'\; >
gt S+

\ St ST 4+—>
ot SE)T—>

| Stdust STH -r/>’




@ St wdamt:
(>0 /eludent S E0) 7 oo oy |
R | FRTTIE SN e
" & | [ Stalom DY \_—«g_\__v___‘_:,\

(.'> \ Studumt SC’J’\\ lS‘(’\,\m\' -9 ’ig?:mm”‘
oY\ ﬁ‘(mt\f['va'\,\\\ ‘
DNRN —"
\\\\\ Stiadumt =2 E;:Zﬂ- &
-——-——\_____,__-J

————r
[ StudimY -4 len

W

7 TNy

"y |
e

—~—~—— ———\

A

.\ Fer
Studmy = 4§ )Ew \
| VA 4

Cligs Studum \

\

I

—

atic) void

&

int i;

(@vg_kor(Student[] S) {

double avg = 0;

i epgth; ++1) {
avg += :
}

avg /= S.length;

for (i=0;

System.out.println("Kor Avg = "

+ avg);
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class Student {
int Kor;
int Eng;
int Math;

Student( ) { Kor= 0; Eng=0; Math=0; }
Student(int x, int y, int z) { Kor= x; Eng= y; Math= z; }

double Avg() { return (Kor+Eng+Math) / 3.0; }
void disp() {]

static void avg mode( Student[] X, int mode) {

static void avg kor( Student[] X ) {l
static void avg eng( Student[] X ) {
static void avg math( Student[] X ) {.|

public class StudentTest2 {

= /"3#53#5
* @param args
*/
#  public static void main(String[] args) {|




—class Student {
int Kor;
int Eng;

o int Math;

Student( ) { Kor= 0; Eng=0; Math=0; }
Student(int x, int y, int z) { Kor= x; Eng= y; Math= z; }

— double Avg() { return (Kor+Eng+Math) / 3.0; }

void disp() {
System.out.println( "--------cmmmmmmmonnnnn ")
System.out.println( "Kor= " + Kor );
— System.out.println( "Eng= " + Eng );
System.out.println( "Math=" + Math );
System.out.println( "GPA= " + Avg() );




- static void avg mode( Student[] X, int mode) {
double avg= 0.0; int 1i;

for (1=0; 1<X.length; ++1) {
switch (mode) {
case 0: avg += X[1].Kor; break; // mode=0
case 1: avg += X[1].Eng; break; // mode=1
case 2: avg += X[1].Math; break; // mode=2
B default: avg = 0; break;
o }
o }
o avg /= X.length;

o String str;
B switch (mode) {

S case 0: str = "** Kor ="; break; // mode=0
e case 1: str = "** Eng ="; break; // mode=1
E— case 2: str = "** Math="; break; // mode=2
e default:str = "** Wrong mode!!!"; break;

)

— System.out.println(str + avg);




static void avg kor( Student[] X ) {
double avg= 0.0; int 1i;
for (1=0; i<X.length; ++1) avg += X[1i].Kor;
avg /= X.length;
System.out.println("** Kor Avg = " + avg);
}
static void avg eng( Student[] X ) {
double avg= 0.0; int i;
for (i=0; i<X.length; ++i) avg += X[i].Eng;
avg /= X.length;
System.out.println("** Eng Avg = " + avg);
}
static void avg math( Student[] X ) {
double avg= 0.0; int i;
for (i=0; i<X.length; ++1i) avg += X[1].Math;
avg /= X.length;
System.out.println("** Math Avg = " + avg);




public class StudentTest2 {

‘_;'#:*
* @param args
*/
public static void main(String[] args) {|




public static void main(String[] args) {
// TODO Auto-generated method stub

Student[] S = new Student[5]; // S[1] : refer

S[0] = new Student(99, 45, 50):
S[1] = new Student(88, 55, 80):
S[2] = new Student(77, 65, 90);
S[3] = new Student(66, 75, 80);
S[4] = new Student(55, 85, 90):

S[0].disp();
S[1].disp();
S[2].disp();
S[3].disp();
S[4].disp();

Student.avg kor( S );
Student.avg eng( S );
Student.avg math( S );

Student.avg mode( S, 0);
Student.avg mode( S, 1);
Student.avg mode( S, 2);




